Test No. : 101

BIOCHEMISTRY

Time : 75 minutes Maximum : 90 marks

PART A — (40 marks)

1. Among the following pair of structures, identify the stereoisomer,

s 208 DoyeTe mbo Aol 1B20dADH AEyEgeso BoSol
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The pk, #nd pk, of L-alanine is 2.35 and 9.69, respectively. Which one of the following
represents the pl value of the amino acid?

L~00dS Gk, pk, S08ain pk, oo SEHT 2.85 285w 9.69. 208 TdS" D6 edddlaiin

Gy, pl deotRo FAraRisod?
{a) 6.5 k) 8.08
(¢) 6.02 (d) 12.04
3. The pitch of B-DNA helix is
B-DNA R Sl ooty bS
(a) 34.0nm (b) 0.34 nm
(¢) 340nm (d) 3.4nm
4. Secvere growth retardation, loss of subcutaneous fat and severe muscle wasting are
cardinal features of
(a) PEM (b) Marasmus
(c) Kwashiorkor (d) Cretiniam
O DS BuRES, S0 ol Y s BRSe 2oBdkn S Kodto So 208 TS
(a) PEM b)) Seolmd
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9. 16S RNA is present in
{a) 308 subunit (b} 50S subunit
(c) 408 subunit (d) 60S subunit
168 RNA 508 o86* Bas' Soth
(a) 308 anEsrno ®) 508 &5ESrno
(c) 408 espEdormo (d) 608 &SESre0
6. One of the following chromatographic methods is based on the principle of “molecular
sieving”
(a) lon-exchange (b} Gel-filtration
@ TLC (d) RIA
o8 736" 2rdisert Book Srpo Bof eprtisd E 5 D 556
(@) wairS Iyl ®)  BE-HPSS
(&0 TLC (dy RIA

7.  Which of the following statement about CD8* CTL is incorrect?
(a) They lyse target by synthesizing perforins
(b) They cause target cell apoptosis
(¢) They must be activated before exerting their cytotoxic function
(d) They cannot kill CD* T-cells

(08 236" CDS* CTL /oBod D8 H8aLS 2d8e
() Sogjedly 282850 309 daygd; oxgin
(b) Ers e2AR0E s¥eidly oo

(© pSerdf 280 He8ovEal Suokir e el domd
(d) CD*T-¥eroi od 30589

Absorption of EM radiation in the microwave region (100 gm — 30 ¢m) by compounds
cause

(a) Molecular rotation (b)  Molecular vibration

(¢) Excitation of sub-valence electrons  (d) Excitation of valence electrons
WE'SS @obo (100 um — 30 cm) 6° Hsastn,08 DESEIND Fiptn Bh SoSK
:S:rﬁ!um:

(a) Soe¥ gifoesdn (b) OseadE HoSmam
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Test No. : 101 4 A
9. Vaccine based on reduced virulence of the microorganism is referred to as
(a) Peptide vaccine (b) Attenuated vaceine
{c) Anti-idiotypic vaccine (d) Idiotypic vaccine
ArE 0 Gy, S0 BipSe ol eeresds dso
(@) DPE 5o ®) Efods dstooto
(©) col-a2arpdE Ssmos @ =ARrghE dssos
10. Spleenisa
(a) Myeloid organ (b) Primary lymphoid organ
{(c) Secondary lymphoid organ {(d) Endocrine gland
Do e%08
(a) Sodberond edabaiwn b)) s §%5 eSahssn
() Bgdab 35 odassw () 2% o
11. ELISA is an analytical procedure based on
(a) Isotopic method () Immunoassay
(c) Nephlometry (d) Bioassay
ELISA 53568 d5mssn B0 bots &o58 dokaod
(a)  Bodphah 540 ()  =BgSO%y
(c) ISUrdgsn @) eardhy

12. Isotope ©Ca, hasa t,,, of 163 days then the decay constant (4) in terms of dayt is

“Ca I0pDald OFAINY (45) 163 S'eren, T Kingad Yorosin 6'zrod*

() 5x10day™ by 4.25 %107 day™*
(© 25x107day™ (@ 122x102day™
13. The UV absorption of DNA is due to
(a) Deoxy supars (b) Phosphate groups
(c) Nitrogenous bases (d) DNA does not absorb UV light
DNA &%), UV 50350058 566930

() }u&;&yﬁm (b)  igyeS Hsosratnn
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(¢) SPens s (d) DNA, UV srodd St Sdixd

A 5 Test No.: 101
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14. What is the wavelength in nm, if an optical filter passcs only far red light with an

average A of 6800 D?
RuSrdor 6800 D Awmmﬁmmgﬁ;&hﬁmwmw

SO07
(a) 590 nm (b) 780 nm
() 680nm (d) 1080 nm

15. CD4 receptor
(0) Binds to MHC class I1 molecule

(b) Binds CD8 on T-cell surface
(¢) Binds to peptide antigen directly
(d) Binds to MHC class I molecule

CD4 grarsamn

(0 MHC £5 Il scashh wolodnd dotod

() T-So rirgdnp 9 CDS & wolotind dowod
(© DPE POUEE eI Bogon voSotnd ool
(d) MHC 5] oasph noBodnd dotood

16. Turnover number of an enzyme relates to

(a) Molar activity {(b) Feedback inhibition
(e) Yield {d) Purification factor
Q0B Sk, drad Soy A08 Bowofonna
@ drebssg (b) SHesdo SONSNER0
{©) ood (d) g sow
17. One of the following is not an antioxidant vitamin
(@) Vit.C ) Vit E
&) ViLK (d) Biotin
a5 76" edysa 05' swash 08 Ha?
(=) D005 C (&) o E
() 2w K d) PSS
18. One of the following amino acids has three pk, values,
{(a) Glycine (b) Alanine
{c) Histidine (d) Leucino

M]:I-:M L.E:L"l'lgllﬁﬂ\\ awnb e ol Bl RS B es e
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19. Which one of the following enzyme deficiency causes Lesch-Nyhan syndrome?

(a) PRPP-amidotransferase (b}  APR-transforase
{¢) Xanthine oxidase {dy HGPR-transferase
208 706" D 2R Bk, 6°550 Lesch-Nyhan 500500 SoibBdinty?
(a) PRPP-JE'wrSyih ®) APR-prSy»8%
(© mpops efdo _ (d) HGPR-pr9 s

20. Which one of the following would not be found on memory B-lymphocyte?
(a) k-light chain (b) surrogate light chain
(c) y-heavy chain (d) e£-heavychain
208 706" 188 B-Hodpd k), WDBE* dotids?
(8) k-5 Jowido () OS50 PS5 Jaws
(€) r—ard Dowdo (d) €D Doow

21. One of the following is a selenium containing metallo-enzyme
(a) Glutathione peroxidase (b) Alkaline phosphatase

() Urease (d) Creatine kinase

208 6" DDA FORAITG, Jowd'-JoBswn D87

@ KparS s ® x5S

(© clweshd @ @ciraSED
22. lodine deficiency causes,

(a) Anaemia (b) Cretinism

(c) Beri-Beri (d) Gout

PErES G550 D0 SoB@ainss?

(@) &frse ®)  SotiepEso

(&) RHowroyd d) Ao

23. Which amino acid donates the N7 atom in the biosynthesis of purine ring?

(a) Glutamate (t) Glycine
(¢) Histidine (d) Isoleucine
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TS Sodixin G, SENciie PEAHE" D 2005 et N7 Sy oy Da?

(a) MBS ® AdS
(© pas (d) oRerds
A 1 Test Nﬁ&’lﬂn
LRTOL,
24. Coenzyme Q is also known as,
(a) Ubigutin {(b) Oubain
{c) Heamoquin (d) Ubiquinone
ArIoPH0-Q D ¥ DForm Sree DEDEET?
(a) clodigds b) =Bond
© rd (d) chondss's
25. The principle of photo-electric effect is used in the construction of
(a) Colorimeter (b) pH meter
(¢} Calorimeter (d) Lyophylizer
“Pu5°-DoffE Beriin” @ax, SrEin D Hoyntns’ ASArAc3SN?
(a) SParsssn ®) pH dowd
(c) =SBhowby (d) PArIPeb
26. Which one of the following melecule is a heterodimer?
(a) Human serum albumin (b) Ribonuclease
() Sphingomyelin (d) IgG
E08 6" D oo “Demdos B eetiin” wos?
(a) DD BEED vonns () pERrIAS
© RpeR*pads @ IgG
27. Sub-cellular organelle fractionation can be achieved by
(a) Di.'[ﬁa;'ant.ia] centrifugation (b} Flow cytometry
(¢) Capillary electrophoresis (d) Rate-zonal centrifugation
G9-55R0n04R0N Saroras Gul), wolitiao S Do St
(a) Pt oFEodissno 3 ®) @ psBoEs

() THaro¥ DEXTILG Sr Hodessn (d) Ban-£%S eofissno
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28. Which one of the following immunoglobulin is pentameric?

B0l 706" Boderat aturyT'itmd§ a2
(a) IgG (b) IgA
© IgE (d IgM
Test No. : 101 8 A

29. c-DNA library constructs have

(a) Coding sequences only (b) Non-coding sequences
(¢) Coding and non-coding sequences (d) Blind DNA sequences

5.8.08.2. (c-DNA) 28 Dogessn D20 ¥OR &otkso?

(a) E'3oR eduEhonon Srpds (b) 5-E"3oR edopiony Sy
(c) E°Eof S08clo S-S0l eoEiosn  (d) o A.05.0. edEassn

30. One of the following 15 a glycoprotein

(a) DBovine serum albumin (b) IgG
(e) Collagen (d) Keratin
Br05 Tab” 78% 2SS ba?
- (a) D UEED eantos by  IgG
(©) Seras d 3885

31. Molecular heterogeneity of a protein can be determined by

(8) PAGE (b)  Agarose electrophoresis

(c) BDS-PAGE (d) Paper electrophoresis

D455 Gooty; e BB Dagorr DB

{a) PAGE (b) esB'o Derymodt o Sodedin
(€) SDS-PAGE (d) 56 diomden Ko Sodesan

32. Protein domain relates to
(a) Single secondary structural motif arrangement
(b) Compact 3-D structure formed by several secandary structural motifs

{c) JF-bends
(d) Only helix-loops
i BT oa il . T S, -
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0 [RETREDa DO Donofod dlvotiiiy
(&) 2 Asdab g etd Dy

(b) ﬂswﬂmwb@gw 3-D Doy
c) F-SEs0en

(d) SodGe-sdne
A 9 Test No. : 101
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33, Activator proteins are needed for transeription in eukaryotic cells, which interact with,
{#) Promoter region of DNA (b} Repressor molecule
{c) Enhancer region of DNA {d) RNA polymerase only

Reoss dtninos’ eBavot SIS adat uds) 386 oy 36 wispomon
(a) 2.25.. &6 Rreb 2-oto ®) SRS 3r0uryS
© &350 & 25945 @2obo (d) 5250, 205585 sy

34. Splicing process is associated with,

{a) DNA (k) m-RNA

() DNA-RNA hybrid (d) Precursor-RNA
- AdrdBodex ool

ﬁﬁnﬂ il An6"

(a) DNA by m-RNA

() DNA-RNA Sossan (d) JIggyrao- RNA

35. Transposons are found
. (n) in plants, animals and bacteria (b) only in plants and bacteria

(9 = only in animale (@ only in prokaryotes
ErSyBnTy 36" docito
W Ho, sobspor Sobain ogldalr  B) Mmoo, oghbair
© oty vy @ Lot Jeigpes SrES
36. Wmd&wnmwﬂkmmmmdum?
() Southern blotting ) Western blottine
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(<) Eastern blotting (d) Capillary clectrophoresis

BB TeI6"D DB KeoSestn SHO6" BONKKN0N AIErAGSD?

() 565 eof ® @S ool
©  SugS ool @) H0E 2EpIS Sersodeisin
Test No. : 101 10 A
37. Chylomicrons are rich in
{a) Proteins and amino acids (b) Carbohydrates and proteins
(¢) Free fatty acids (@) Triacylglycerol and phospholipids
26 DS’ 20 LHESLT dodo
() @l 508an omS* ey ()  SEY @) SoBain PSSy
(€) ebooing 3 entustine (d) L@Wm%%

38. Glycoprotein intrinsic factor is essential for absorption of

(@) Vit.D k) Vit.C
(e} Vit Biz d) ViLK

(n) 20208D ) DumSC

(&) 263205 Bys (@ spSK

89, Number of moles of ATP yield per mole of palmitic acid is

B D0 20008 eSaBans 2 ovey) D85, Bried S8yt

(a) 160 b 129

{c) 120 (d) 68

40, Menmamhﬂdmrequirﬁ one of the following vitamin as a cofactor,

faki MRE.. s
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i Luamn (b) Hibotlavin

() Niacin (@ Biotin
eSSBS Dot 8K THE' D Dtud ST S S8

(a) Pabaos (b) PE'pS

(€) Aasirio (d) o2ras

PART B — (30 marks)

41.  Which one of the following transgenic plant carries Bt-gene?
(a) Groundnut (b) Cotton
(c) Sugarcane (d) Banana
Bo8 06" 3 prGBnt k), od-85 OR dinotinin?
(a) Deedn ®) 56
() JEH (d) e58

42. The UV absorption of proteins at 280 nm is due to
{a) Basic amino acids (b) Acidic amino acids
{c) Aromatic amino acids {(d) Imino acids

@485 Gk, UV $ieadon 280 nm 3¢5 365 5-5eaiin Howd estivino
(a) =8 oS wixdve (b) Mmﬁuﬁ_pm:
(© cirEBrdl ens® emsna (d) =S esoswe

43. Restriction enzymes do not digest host bacterial DNA due to
(a) the presence of companion enzyme that glycates the host DNA
(b) the presence of companion enzyme that acetylates the host DNA
(c) the presence of companion enzyme that hydroxylates the host DNA
(d) the presence of companion enzyme that methylates the host DNA

Soladed FPES JoFanes 0dPD fBabd &.05.0. o BBY Baudy?
(a) SIS JoPior doteo Hesd mwa.m.gmm
(b) IS8 0Piw dotiero Iob e8Gdh &.005.0. IHSBI S8
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